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QUESTION 1

Refer to the exhibit to view the application control profile.

Categories

~ All Categories

@~ Business (143, £36) ©~ Cloud.T (47, £31)

© - | Collboration (255, £>10) © - | Email (78, £12)

@~ Game (84) © - | General.Interest (229, £&57)
@~ Mobile (3) @ ~  Network.Service (330)
@~ P2P (56) @ - Proxy (168)

@~ Remote.Access 84) @ ~  Social.Media 116 . £531)
© - | Storage.Backup (162, £316) @~ Update (49)

@ v | Video/Audio (154, &> 14) @~ VolP (24)

@~ WebClient (24) @~ | Unknown Applications

(® Network Protocol Enforcement

Application and Filter Overrides

%+ CreateNew @ # Edit & Delete

Priority | Details Type Action

1 [EIEE] Excessive-Bandwidth | Filter @ Block
2 \i={[s] Apple Filter | ® Monitor

Users who use Apple FaceTime video conferences are unable to set up meetings. In this scenario, which statement is
true?

A. Apple FaceTime belongs to the custom monitored filter.
B. The category of Apple FaceTime is being monitored.

C. Apple FaceTime belongs to the custom blocked filter.
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D. The category of Apple FaceTime is being blocked.

Correct Answer: C

QUESTION 2

Refer to the exhibit.

Outgoing InterfaCes
O Manual O Best Quality
Manually assign out@aing interfaces The interface with the best meadured

performandc & & sehec tedd

O Lowest Cost [SLA) O Manimidze Bandwidth [SLA)
The interface that meets SLA tarpets i Traft laad balanced among
| SEeC bed 'I'q"l'l' nere s ane rl-'. NEETTaCes IF .I'.:'IF'I".:-I...-.- Lar Pets
nterface with the lowes aswpned
| o4l s sesed Tl
| Interface preference = portl ¥
= port2 M|
- OOt |
| = portd |
L]
| Felg r".ll“"'l'!'l.:— r..:;.._'. -
Chaalsty criteria Latency -

The exhibit contains the configuration for an SD-WAN Performance SLA, as well as the output of diagnose sys virtual-
wan-link health-check.

Which interface will be selected as an outgoing interface?
A. port2
B. port4
C. port3
D. portl

Correct Answer: D
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QUESTION 3

Refer to the exhibit.

Display r

Clear reatast log

Toggle bypass atatus
Stop all

Restart a I 1tor

Examine the intrusion prevention system (IPS) diagnostic command.

Which statement is correct If option 5 was used with the IPS diagnostic command and the outcome was a decrease in
the CPU usage?

A. The IPS engine was inspecting high volume of traffic.

B. The IPS engine was unable to prevent an intrusion attack.
C. The IPS engine was blocking all traffic.

D. The IPS engine will continue to run in a normal state.

Correct Answer: A

QUESTION 4

Why does FortiGate keep TCP sessions in the session table for some seconds even after both sides (client and server)
have terminated the session?

A. To remove the NAT operation.

B. To generate logs

C. To finish any inspection operations.

D. To allow for out-of-order packets that could arrive after the FIN/ACK packets.

Correct Answer: D

QUESTION 5
Which two actions can you perform only from the root FortiGate in a Security Fabric? (Choose two.)

A. Shut down/reboot a downstream FortiGate device.
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B. Disable FortiAnalyzer logging for a downstream FortiGate device.
C. Log in to a downstream FortiSwitch device.
D. Ban or unban compromised hosts.

Correct Answer: AB
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